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‘one-base error
by 1B(#3) not
catching throw
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-batter #4
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< e} Q; o ‘then RBI by
X ‘batter #4

‘three-base hit,
‘but thrown out
»trying for home,
'LF(#7) to
-S5(#6) to C(#2)

‘home run,
self-RBI by
:batter #5

K3
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two-base
:throwing error
:by 3B(#5);
-then RBI by
‘batter #7

‘one-base error
by SF{#10}, plus
:two-base error
by CF({#8) on
same play;

then RBI by
batter #8

1-4 ® Eone-base hit;

then out by
-fielder's choice
.on next batter,
‘P(#1) to 2B(#4)

.reaches

:1st base by
fielder's choice,
-P(#1) to 2B(#4),
‘on previous
‘batter

F9

fly out to
RF(#9) for
*3rd out
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4th
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)
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7th

8th
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v’ end of inning
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‘three-base hit,
‘but thrown out
‘trying for home,
‘LF(#7) to
-S5(#6) to C(#2)
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‘self-RBI by
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‘two-base
-throwing error
:by 3B(#5);
-then RBI by
.batter #17
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.one-base error
by SF(#10), plus
:two-base error
by CF(#8) on

‘same play;
E10 :then RBIbY

.batter #18
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then out by
-fielder's choice
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(P(#1) to 2B(#4)
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:1st base by
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‘P(#1) to 2B(#4),
.on previous
‘batter
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one-base error
by 1B(#3) not
catching throw
from SS(#6);
then RBI by
batter #14

two-base hit;
then RBI by
batter #14

three-base hit,
but thrown out
trying for home,
LF(#7) to
SS(#6) to C(#2)

home run,
self-RBI by
batter #15

two-base
throwing error
by 3B(#5),
then RBI by
batter #17

one-base error
by SF(#10), plus
two-base error
by CF(#8) on
same play;

then RBI by
batter #18
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one-base hit;
then out by
fielder's choice
on next batter,
P(#1) to 2B(#4)

reaches

1st base by
fielder's choice,
P(#1) to 2B(#4),
on previous
batter

fty out to
RF(#9) for
3rd out

THEM

1st

2nd

3rd

4th

5th

6th

7th

8th

Example

5

end of inning

207 3

5 runs scored




